NeBATHaAUATbIN YPOK

Juanor:

I'pammaTHKa:

S cben mapy Cocucok
1 ate a couple hot dogs

19.A: Genitive Plural: Forms
19.6: More Uses of the Genitive

19

A cben napy cocUcokK

| ate a couple hot dogs

1 | Yemwipe uaca ympa. Myoic mixo exooum 4AM. The husband quietly enters the bedroom
2 | endavnro u noscuimes. JKend npocsindemcst. and lies down. The wife wakes up.

Kena 3 |I'me xe b1 661? VYike ueThipe yacd yTpa! Thl Where the heck were you? It’s already 4AM.
4 |34mep aBepb? Did you lock the door?

My:x 5 | Oi, 3a0pm1. Ceitudc 3ampy. Oh, I forgot. I'll go lock it right away.

Kena 6 | Ckombko pa3s s Te0st mpocuna! Tel HUKOTIA He How many times have I asked you! You never
7 | 3anmpaenib 1BEPH! lock the door.

My:x 8 | He roBop# Tak rpoMko. Thl pa3oyaumsb netéii! Don’t talk so loud. You’ll wake the children.

Kena 9 | Oust HOUYIOT y npy3¢éi. ['ne ke ThI ObLT? They 're sleeping over their friends’. Where

were you?

My:x 10 | ITamra yctpOuit Be4eprHKY, U s 00béjicst. S 1uidxo | Pasha threw a party and I ate too much. Idon’t
11 | ce0s uyBcTBYI0. JKHBOT O0MUT... [0710BA OONUT... | feel well. My stomach hurts. My head hurts.

Kena 12 | Yro ThI €n1? What did you eat?

Myx 13 | Yer6 s TOmpKO He en! Tam OuTO OrpOMHOE What didn’t I eat! There was a huge amount of
14 | koymuecTBO enpl. CopTOB nécATh ChIpa, YiiMa Jfood there. Around 10 kinds of cheese, a ton of
15 [ 3aKycoK. hors d’oeuvres.

Kena 16 | A 9TO K€ ThI €1, 51 CIIPAIINBAIO? What did you eat, I asked you.

Myx 17 | 51 cbest mapy COCHCOK, HECKOIIBKO Tapénok 0opiia, |/ ate a couple hot dogs, a few bowls of borscht,
18 | MHOTO CBIpa, apy sI0JI0K, G4eHb MHOTO a lot of cheese, a few apples, a whole lot of ice
19 | MOPOIKEHOTO, BRI CTAKAHOB MIECTh JACMIEBOTO cream. I drank around six glasses of cheap red
20 | KPACHOTO BHHA. (red) wine.

Kena 21 | Bcé€ sicno. Tam tanueBanu? I see. Did people dance?

My:x 22 | Her, y [Tamu kpomeunast ksaptupa. He xBataso | No, Pasha has a tiny apartment. There wasn'’t
23 | mécral enough room.

CnoBapb

2 | mpoceImaii+...cs // mpocHY+...co

wake up (intransitive) (Note that the verb fall asleep 3achinaii+ //
3acHy+ is without -cs1, while this verb does have -ca!)

3 | 3ammpait+ // {3anp+ '/ 3amep-+ / 3amepérs }

lock (Conjugation is similar to the verb die. See Lesson 13.)

§ |Gymi+ //pas-

wake up (transitive); awaken

10 | 00Bemaii+...cst // 00BECTRCA (irreg.)

eat too much, overeat

14 | copT (nominative plural copta)

kind;: sort

14 | yitma

whole bunch; a large amount, a ton (This is rather colloquial.)

15 | 3akyc/ka (0)

hors d’oeuvres

17 | mapa a couple; a few
17 | cocuc/ka (0) hot dog
22 | KpOIIeYHBIH tiny

23 | xBatéit+ // XxBatii+ + genitive

suffice (See grammar explanation.)
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19.A Genitive Plural: Forms

The endings for genitive plural nouns are often considered quite difficult to learn. To some extent that’s not false,
but they’re really not that hard. There are three endings, the choice of which is determined by the final letter (and
not by the gender) of the nominative singular.

GENITIVE PLURAL

ADJECTIVES AND NOUNJECTIVES NOUNS
{1}X (- BIX / -KX) {O}B/ D/ -eii
Nominative Singular ends in: | Genitive Plural ending is: Examples
HOBBIH (HIIBM > HOBBIX (DHIIEMOB
Hard consonant Lo , ,
. 0O0JIBIIION IOM > OOJIBIINAX JOMOB
-u, -n {O}B XOpOIIHiA 0TI > XOPOIIHMX OTIIOB
-0B / -eB / -éB (rare) 3TOT aMepHKAHEI] > 3TUX aMEpPUKAHIICB
IUTOXON My3€i > IJIOXUX My3¢éeB
HACTOSIIUHA TEHNN > HACTOSIINX I'¢HUEB
- pycckast KHAra > pyCCKHX KHUT
Any vowel & (nuke the vowel)

Note: X0opoIIas MaliHa > XOPOIINX MaIIHH

. . . A , 4
1) A fill-vowel is sometimes TBOE IUCH/MO > TBOMX ITUCEM

needed CHHeE OK/HO > CHHHMX OKOH

2) Nouns in -us, -ne reveal Hama ¢ororpadus > HAMMX Gororpaduit

¢ i kR r 14 r 14 v
the ‘hidden’ i. OoBIIOe 3JAHNE > OONBIINAX 3TAHUI

3Ta ABEpb > 3TUX ABEPEH
=b (regardless of gender)

CKYYHBIN JIEHB > CKYYHBIX JTHEH
=X, -1, -9, -1

KpacuBas HOYb > KpAaCHUBbIX HOUCH
-eu OCTpBI HOX > OCTPBIX HOXEH
3TOT KapaHAaml > ATUX KapaHaamein

MO KJTIOY > MOUX KITIOUE

BKYCHBIN OOpII > BKYCHBIX OOpIIéit

@ Put the following noun phrases into the Genitive Plural. Use the intro phrases provided.
1. OH crour 0ko00 / HAaIIa HOBAsk MaIlllHA 2. S BBOCTOpre OT / TBOM OONBIIOH TOM
3. Onu noctpOuiu a0M OKOJI0 / 3TO HOBOE 3/1aHUE 4. OH Kynun 08Th / JOpoToi KapaHIaI
5. 3mech HeT / MO JTFOOWMBIH KOT 6. OHell Hanmucan yiiMy / HHTEpECHOE TUChMO
7. Twi Bunen / e€ ymHas codbaka 8. B éro xannkynax OBUI0 MHOTO / CKYYHBIH JIeHb
9. B Hplo-H6pke MHOT0 / x0pomuii My3éit 10. Ha croné nexana yitma / crapas Belb
11. Ha BricTaBke HE ObUTO / MHTEpECHAS PoTOTrpadns 12. 51 He mo6m10 / 3TOT U3BECTHBIIN aBOKAT
13. 5 He BUgEN / MOCIETHUI UTATTBSIHCKUN (HDUITBM 14. HukTO He MOHUMAET / 3TOT CTPAHHBIN aMEepUKAHEI
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19.A.1 The Genitive Plural of Plural-Only Nouns

For nouns that do not have a singular form, you can’t really predict which of the three endings will be used
(because the genitive plural is based on the nominative singular). Still, the same three endings are used:

|  NominATIVE PLURAL | GENITIVE PLURAL
-0B
YackI qacoB
OYKH O0YKOB
-
JIEHB/TH (€) JiéHer
Oproku Oprok
-ei
JIIOA JIIONENR
ETH eTEN
poautenn poautenei

So, all people (sronéii, neréii, poanreneii) take -eii. Otherwise, there aren’t any great clues.

19.A.2 The Genitive Plural of Nouns With an Irregular Nominative Plural

As for the irregular plurals, nouns with stressed -bsi > -eii (lose b), while "bs> -bes (keep b)

| NOMINATIVE PLURAL | GENITIVE PLURAL |
-bsl -éif (no b left!)
Ipy3bs *npy3¢it
CHIHOBBSI CBIHOBEH
MYXbsI MYKEH

*All plural forms of apyr have a soft-sign, except the genitive/accusative.

| NOMINATIVE | GENITIVE PLURAL |
-bil -beB (with b!)
OpaThbs OpaTbeB
CTYJIbS CTYJIbEB
TepeBbs JIepEBBEB
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Others
HMEHA HUMEH (e was {O} all along!)
BpEMEHA BpPEeMEH (e was {O} all along!)
cocému (soft) cocénen
4épTH 4epTéi
SIOTTOKH sI0JIOK (as expected)
rpaxIaHe rpaxIan
aHIJIMYaHe aHIJIMYaH

*#* Unexpected hardening of consonant: méc/ust > mécen. (The n hardens.) ***

There are three nouns whose genitive plural is identical to the nominiatve singular: pa3, ria3 and yesoBéx (when
referring to a specific number >5).

S 1e6s cTo pa3 mpocuia He KypUTh B IOME. 1 asked you 100 times not to smoke in the house.

Tam ObUTO YeTTOBEK COPOK. There were about 40 people there.
(You don’t often find raia3 in the genitive plural.)

Finally, let’s look at the genitive plural of cembst family. It’s quite regular, even though a lot of books go out of
their way to discuss it. (Unlike us.) The basic sound is: c*{E}M i1 {A}. You simply nuke the vowel ending,
which leaves you with ‘cempii’. A cluster buster (fill vowel), in this case e, is needed to break up the consonant
cluster -mMb/i, giving cemei.

@ Form the Genitive Plural.

1. S yBaxaro / Moiif HOBBII coCén Buepa st Brzen / Bai OBIBIIUN MyX

Bce oboxarot / er6d npyr

2

Ha moém croiné uer / eé Jacrel 4. Kuanru nexaT BO37e / erd IToporue OUKu
6. Mos 640ymIka qOTO KHUIA y / 3TH JIF0IN
8

3nech HeT / KpacUBBIN CTYI

3
5
7. Tlouemy ThI KpHYHIIb Ha / HAIHA AETH?
9. VY mens Het / néHbpru 10. S tepnéth He MOTY / MAIIWMH CBIH
1

1. B 3tom nmapke MHOTO / BEICOKOE JIEPEBO 12. OHa nonoxwna 100Ky BO3JIe / MOU CHHHE OPIOKH

13. B 3Tom pomaHe 04eHb MHOTO / KpaCHBOE UMSI 14. Ona 3n4aeT MHOTO / pyccKasi IECHS
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19.Bb More Uses of the Genitive

19.b.1 The Genitive of Quantification

The genitive is used after various “quantifiers”:

Quantifiers That Govern the Genitive

CKOJBKO how many/how much

HECKOJBKO  several

HEMHOT0 a small (sometimes insufficient) number/amount
MAJIO an insufficient number/amount — always negative
yiima a very large number/amount, a ton — not literally
napa a couple/few

KOJIMYECTBO amount; quantity

The genitive plural is also used after certain numbers, which we’ll review next semester.

With the above-mentioned quantifiers, the use of the genitive singular vs. plural in the following noun more or
less mirrors English. With “count nouns” (things you can count) use the genitive plural: ck61bK0 KHUT; MHOTO
(GIILMOB; HéCKOTBKO KapaHIaméii; Majao Apy3éi; yiiMa npo6séMm; niapa aneabcinHoB. With “mass nouns”
(things you cannot count) use the genitive singular (if the noun exists in the singular): ck6.1bK0 BpéMenu, MHOTO
MécTa, HeMHOT0 caxapa, MaJjio AéHer (no singular form exists), yiima padoTsI (a fon of work).

You normally cannot use HéckoabKo or mapa with mass nouns (i.e., only the genitive plural is used after these
two quantifiers).

Genitive Singular Genitive Plural
(Mass Nouns) (Count Nouns)
CKOJIBKO 4asi? how much tea? CKOJIBKO py4eK? how many pens?
yiiMa MécTa a ton of room yiiMa KHHAT books up the wazoo
MHOTO céxapa a lot of sugar MHOTO KHUT a lot of books
XXXOOXXXXXXXXXXXXX HECKOJILKO BONPOCOB  several questions
XXX XXXXXXXXXXX mapa arneabCHHOB a couple oranges
HEMHOTO BpEMEHU 1) a bit of time HEMHOTO JIpy3¢i 1) a few friend
2) just a little time 2) not very many friends
MAJIO MOJIOKA a small (insufficient) MANo PAITHEMOB a small (insufficient)
amount of milk number of movies
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19.6.2 Nouns That Appear Only in the Singular in Russian

Russian is generally more strict than English about forming plurals from nouns. For example, in English you
could say (strictly in theory) I had 6 beers last night. In Russian, however, you cannot form a genitive plural
from the noun miaBo. You have to find an appropriate noun (bottle/glass/keg) followed by the genitive singular
form muBa, i.e. six bottles/glasses/kegs of beer. But since a situation like that could not possibly occur, it won’t
be a problem for you. Some more examples:

Kaxiie y Bac copta gas? Which (kinds of) tea(s) do you have?

OH BBIII OYTBUTOK MATHAECIT HEMEIKOTO MTHBA. He drank about 50 bottles of German beer.

@ Form questions and give answers based on the prompt

© ©6 6?7 0

Example: NEHBIH ©= Y MeHst MHOTO JI€HeT.
caxap ® = VY mens Mo caxapa.
1. mpyr © 2. BpéMms ® 3. waii ©
4. xudra ? 5. OIBIT experience @ 6. MOJOKO @
. 374HUe @) 8. néHern © 9. wmsico meat ?
10. rancryk @) 11. noxas & (no need for 12. miso ©

possessive phrase)

19.6.3 Verb Agreement With Quantifiers

As we mentioned in the previous lesson, most quantifiers take a neuter third-person singular verb, just like uro,
Bcé, Huuerd. (Recall that kTo takes a masculine third-person singular verb, while Bce takes plural.) With
animate subjects it’s possible to get either a singular or a plural verb.

CKOJIBKO KHHUT OBIIIO Ha CTOJIE? How many books were on the table?
Tam OyneT Mano HHTEPECHBIX (PUITBMOB. There will be few interesting films there.
MHOTO pydYeK JIKAIO Ha IOy. A lot of pens were (lying) on the floor.
Héckonbko cTynéHTOB 3HAET (3HAIOT) OTBET.  Several students know the answer.

With yiima and mapa, which are feminine singular nouns, the verb is in the feminine third-person singular:

Panpme y Herd Ob1a yiima jaéner! He used to have a ton of money!

Ha Tapénke nexuT (Jiexaa) mapa COCUCOK. There are (were) a couple of hot dogs on the plate.

(Again, this whole question of verb agreement with quantifiers is quite complex. There’s a lot more to be said
about this. Senior Thesis, anyone?)
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Example: Ctynént 3HdeT OTBET (MHOTO) =

Change the sentences based on the prompt

MHOro cTyA¢HTOB 3HAET (3HAIOT) OTBET.

1. Ha croné nexxut kapanjaii (MHOTO) 2. B Ilpuncrone yunrcs cTyaéHt u3z Opanuu (Mano)
3. B marasrine Obu1 caxap (HEMHOTO) 4. Ha ypoxke Oynet ymHBII podéccop (OUeHb MAIIO)
5. B Heto-Mopxke %uBET pycckuit mucatens (Héckonpko) 6. Ha cryie nexnr kiirou (ckombko — put this first)
7. Y MmeHst ObUTH I1EHBIH (MHOTO) 8. ¥V I1oau xopomme 1py3bsi (O4eHb MHOTO)

l 19.B Genitive of “Sufficiency” After XBaTtaii+ / XBaT+ ]

With the verb xBaTdii- / xBaTii+ suffice the substance/items being described appear(s) in the genitive. Often this
verb is negated (to express what is lacking), but that’s not why the genitive is used. To express the person who is
lacking (or who has enough of) the substance/items, use either the dative or y + genitive. (Sometimes there are
subtle differences between the dative and y + genitive, but we won’t explore them here.) Since these sentences
involve quantity, use a neuter third-person singular verb, regardless of whether the thing lacking/sufficing (in the
genitive, remember) appears in singular or plural.

VY mens (MHe) He XBaTaeT JEHET Ha OMIIET.
V Bac (Bam) xBaTtuT BpéMeHH?

CrynbeB 371eCh HE XBaTAeT.

Te6¢ (y Tebs1) mécta xBatdeT?

51 6oroch, YTO SIOIOK HE XBATHT.

Note also the use of mis meaning for (the sake of):

MopdskeHoro I BceX He XBaTHIIO.

%

A e

I don’t have enough money.

There won’t be enough hot dogs.

I’'m afraid there won’t be enough hors d’oeuvres.
There weren’t enough chairs.

There’s enough room for (Ha + accusative)
everyone here.

1 don’t have enough money for the ticket.

Will you have enough time?

There aren’t enough chairs here.

Do you have enough room?

I'm afraid there won’t be enough apples.

There wasn 't enough ice cream for everyone.

= ® o &~
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There weren’t enough books.
Sasha never has enough time.
There’s not enough cheese.

What are you lacking?

0. Do you (plural) have enough hot cereal?
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25 YnpaxHéHue 1

my favorite building your tiny house this delicious hot dog

Singular

Nom

Gen

Nom

Gen

g YnpaxHéHue 2 Insert a different quantifier in each sentence and change the noun phrase
from singular to plural. Be sure you use the correct number with the verb!

1. Y mens xopomrast MaiHa.

2. Ha priake ObIT pycckuii Bpad.

3. Ha cTomé nexan cTaphiil )KypHAI.

4. B IIpAHCTOHE KpacUBOE 37IAHUE.

5. Y Her6 caMOyBEPEHHBIH IPYT.

6. B IlpuHcrone yuntcs réuuid. (Think about how to decline this Noun!)
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5 YnpaxHéHne 3 Complete the sentences using something in the genitive. Use suffice
(both positive and negative) for two of the sentences.

1. 'V bunna I'éiirca

2. B Hero-Mopke

3.V Dnmza6ér Téinop

4. YV Pob6epra Kénnenn

5. ¥V mamero npodéccopa pyccKoro si3bIka

6. B 3tom cemécrpe y MeHst

7. B IlpuncTone
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